BIOL 100

Quiz 2
1. The four major classes of biological molecules include:

A) organics, inorganics, gaseous, non-gaseous

B) carbohydrates, saccharides, lipids, proteins

C) carbohydrates, lipids, proteins, amino acids

D) carbohydrates, lipids, proteins, nucleic acids

E) none of the above.

2. The second law of thermodynamics states that
A) all living organisms must eat to derive energy

B) energy can neither be created nor destroyed

C) energy is required to bring molecules into a cell against a concentration 


gradient

D) in energy-yielding reactions, matter goes from a more-ordered state (less 


entropy) to a less-ordered state (more entropy)

3. Humans require oxygen to
A) perform fermentation

B) start glycolysis

C) enter the Krebs cycle as an intermediate

D) serve as an electron acceptor at the end of the electron transport chain

4. Which of the following pathways are used during fermentation?
A) glycolysis only

B) glycolysis, Krebs cycle, and electron transport chain

C) glycolysis and Krebs cycle

D) Krebs cycle and electron transport chain

E) electron transport chain only



5.  How many ATP molecules does a eukaryotic cell gain during aerobic cellular 


respiration of one glucose molecule?

A) 4

B) 36

C) 2

D) 22

6.  The first law of thermodynamics states that…

A) all living organisms must eat to derive energy

B) energy can neither be created nor destroyed

C) in energy yielding reactions, matter goes from a more ordered state to a less ordered state

D) energy is required to bring molecules into a cell against a concentration gradient


7.  Which of the following is an example of a molecule being oxidized?

A) pyruvate converted into lactic acid

B) FAD being converted into FADH2
C) Oxygen being converted into H20
D) NADH being converted into NAD+
8. Which of the following is true of fermentation?

A) Humans cannot ever perform fermentation

B) Animals produce lactic acid by fermentation

C) Animals produce alcohol by fermentation

D) Humans can survive for long periods of time on fermentation

E) Humans can survive long periods of time on alcohol

9. The majority of ATP produced during aerobic respiration is produced during…
A) Oxidative phosphorylation

B) Citric acid cycle

C) Glycolysis

D) Intermediate step

E) All are equal

10. How many ATP molecules are used to start glycolysis?

A) 1

B) 2

C) 3

D) 4

E) 5

11. How many pyruvates (pyruvic acid) molecules are produced by glycolysis?

A) 0

B) 1

C) 2

D) 3

E) 4

12. Which of the following is the correct order of the stages of aerobic respiration?
A) citric acid cycle, glycolysis, oxidative phosphorylation

B) glycolysis, citric acid cycle, oxidative phosphorylation

C) oxidative phosphorylation , citric acid cycle, glycolysis 

D) glycolysis, oxidative phosphorylation, citric acid cycle


13.  In which of the following is the molecule in bold reduced?



A)  FADH     
FAD+


B)  NADH

NAD+


C)  NAD+ 

NADH

14.  What role do hydrogen ions (H+) play in the electron transport chain?

A) They add phosphates onto ADP to form ATP

B) They are pumped across the mitochondrial inner membrane against their concentration 


gradient (to where their concentration is high); as the H+ ions flow back to where their 


concentrations are low, they drive ATP synthase to form ATP.

C)  They are pumped across the mitochondrial inner membrane against their concentration 


gradient (to where their concentration is low); as the H+ ions flow back to where their 
concentrations are high, they drive ATP synthase to form ATP

15.  Glycolysis occurs in the _________, and the citric acid cycle occurs in the _________.


A)  cytosol/cytoplasm; mitochondrial matrix



B)  cytosol/cytoplasm; nucleus



C)  mitochondrial inner membrane; mitochondrial matrix



D)  cytoplasm; cytoplasm



E)  mitochondrial inter-membrane space; cytoplasm
